»rese  URINSIES »P.740 QZALD »P.740
R & (M)

AE| R |5 5 an

#B| L | ¢D| 45 |pcD. W X Y A M [:#Ene =b-c)) :ﬁffi SUS304
c S

5 | 8120 35] 13 |1 6 | 4| 35| M3x10 | SCS0608_ P3| 710 | — | 1,150
10][20] 35] 13 | 1 6 | 4| 35| Max10 | SCS0610C1P3| 710 | — | 1,150
8|25 45|16 |15 | 8 5| 45| M3x10 | SCS0808[ P3| 790 | — 1,260
g | 1025 | 45/ 18 |15| 8 | 5| 45| M4x12 | SCS08100P3 | 790 | — | 1,260
12 28| 55/ 18 |15 | 85/ 5| 5 | M5x16 A SCS0812( P3| 790 | — | 1,260
15| 30| 55| 20 |15 | 95| 5| 55| Mex15 | SCS08150P3 | 790 | — | 1,260
1030 | 55/ 20 |15 9 | 5| 6 | M4x12 | SCS1010_1P3 | 830 | 920 | 1,310
10 |12 30| 55/ 20 |15 9 | 5|6 | Ms5x16 | sCS101200P3 | 830 | 920 | 1,310
15| 35| 66| 24 | 1.5 | 11 6 7 MEx18 | SCS 1015 JP3 830 920 | 1,310
10 (30| 55| 22 [15[10 | 5| — [ m4x12 [ s€S121000P3 | 830 | 920 | 1,370
1212 |30 55/ 22 |15|10 | 5| — | M5x16 | SCS12120]P3 | 830 | 920 | 1,370
1535 | 66|24 |15 ] 11 6 | 7 | M6x18 | SCS1215_ P3| 830 | 920 | 1,370
5 10 | 30| 45| 22 | 1.5 [ 10 5| 7 M4x12 | SCS 1310[_]P3 830 — 1,370
15)35] 66 24 | 15 [ 11 6| 7 | mex18 | SCS1315CP3 | 830 | — | 1,370
14 |15/ 40| 66| 28 [15[13 | 8| 9 | M6x20 | SCS1415(1P3 | — — | 1,480
1032 45|24 [ 15 |1 6 | — | M4x12 | SCS1510(JP3 | 920 | 990 | 1,480
1512 |35 55| 26 | 15|12 | 6| 8 | M5x16 | SCS1512C1P3 | 920 | 990 | 1,480
15|40 66| 28 |15 13 | 8| 9 | mex20 | SCS1515(/P3 | 920 | 990 | 1,480
10 |35 | 45/ 25 |15 |12 | 6 | 9 | M4x12  SCS1610_JP3 | 920 | 990 | 1,480
16 |12 35| 55[ 26 [ 1512 | 6| — | M5x16 | SCS16120]P3 | 920 | 990 | 1,480
1540 | 66| 28 |15 [13 | 8 | 9 | M6x20 | SCS16150)P3 | 920 | 990 | 1,480
1040 | 55/ 3 [ 1514 | 7| — | max16 | SCS2010( P3 | 1,040 | 1,310 | 1,750
20 (12|40 | 55,30 |15 |14 | 7| — | M5x16 | SCS2012CJP3 | 1,040 | 1,310 | 1,750
1545 6634 [ 15[15 | 8| — | Mex20 | SCS2015CJP3 | 1,040 | 1,310 | 1,750
ps | 12|45 | 55| 386 | 15 | 17 7 | — | M5x16 | SCS 2512 P3 | 1,260 | 1,530 | 2,080
1550 66 38 | 15[18 | 10| — | Mex25 | SCS2515(]P3 | 1,260 | 1,530 | 2,080
30 | 15|55 | 66 44 | 15 |20 | 10 | — | Mex25 | SCS 30150 JP3 | 1,370 | 1,800 | 2,620
35 | 15|60 | 66| 48 |2 |23 | 12 | — | mex25 | SCS3515(]P3 | 1,480 | 2,180 | 3,170
40 18 70| 9 |56 |2 |26 | 13 | — | M8x30 A SCS4018_JP3 | 1,750 | 2,510 | 4,150
50 | 22 85|11 [ e8 |3 |3 | 16 | — | M10x35| SCS 5022 P3 | 2,290 | 3,110 | 5,450

65

VN

4
s

iwarta




